
Base Conversion Practice Problems 

 

1) Convert 123D16 to base 10 

 

 

466910 

 

 

 

 

2) Convert 1000 1001 10102 to base 10 

 

 

 

220210 

 

 

 

 

3) Convert B23D16 to binary 

 

 

 

1011 0010 0011 11012 

 

 

 

 

4) Convert BDF16 to Octal 

 

 

 

57378 

 

 

 

5) Convert 38110 to base 5 

 

 

30115 



6) Convert 38110 to base 3 

 

 

1120103 

 

 

 

 

7) Convert 32105 to base 3 

 

First find, 32105 = 43010 

 

Then find, 43010 = 1202213 

 

 

 

 

 

 

8) Convert 2123 to base 5 

 

 

First, 2123 = 2310 

 

Then find, 2310 = 435  

 

 

 

 

 

 


